Patent No. 2695139

A-1300~1600

On/Off Selectable Hold-open
Center-Hung Floor Hinges for Inward and Outward Opening

_Without hold-open ® The thickness of this thin model has been further reduced for installation on a thin slab.
94 94 e Alignment of the door is adjustable after hanging by making a simple adjustment to
the main body alone.
® Two-valve function allows easy closing speed adjustment.
® On/Off Selectable Hold-open
Even after the door has been hung, exchanging the hold-open device can be made
) easily using a screwdriver only.
90° Hold-open 90° 120  Shipped with hold-open selected as factory preset.
® Type Z is also available, with which alignment can be adjusted by means of the top pivot.

120°

On/Off Selectable 90° Hold-open
Model Number

Without hold-open Applicable Door Dimensions Maximum Door Weight
94° inward and outward opening Without Hold-open With Hold-open DWXDH mm kg
Hold-open A-1300 950%2100 110
90" hold-open
120° inward and outward opening A-1400 1050X2400 185
Note: The door-opening angle varies by A-1500 1400%2400 240
selecting or unselecting the stop. A-1600 1800X2700 280
A-1300Z10 950X2100 110
A-1400Z10 1050%2400 185
A-1500 ZII 1400X2400 240

(Note) e Floor hinges for stone tile flooring, floor hinges for carpeted flooring, and aqua hinges are available as well.

Hold-open Adjusting Cover (Left-hand)
(3 Parallel Alignment Adjusting Screw
@ Closed Position Alignment

Adjustment Procedure
1. Selection of On/Off Selectable Hold-open Settings  Hold-open OFF

Note: Make adjustments with door in closed position. ®< Adjusting Screw Left-hand

1. Remove the two Phillips-head screws on the a 1st Speed Adjusting Valve \
hold-open cover and rotate the cover so that g 2"C Speed Adjusting Valve
the groove aligns with the 4 mark to activate @ Parallel Alignment Door
or the A mark to deactivate the hold-open. v f Adjusting Screw

2. Retighten the two Phillips-head screws after @< Right-hand

@ Closed Position Alignment

making the necessary adjustments. "
9 y ad Hold-open ON Adjusting Screw

IMPORTANT! Hold-open Adjusting Cover (Right-hand)
Adjustments made with door in open position will - #An M8 each is used for D, @, and @, and an M6 is used for 3.
disable switching and may cause damage to the hinge. The H(S)-1300+H(S)-1400 and the A-1300+A-1400 are different in cement casing.

29



Adjustment Procedure
2. Closed Position Alignment 3. Closing Speed Adjustment /\
Loosen the parallel alignment adjusting screws To adjust the closing speed,
(® and @. Then, proceed to adjust with closed turn the closing speed adjusting
position alignment adjusting screws (D and . valves to the right or left. .
Correct Position ond Spee" /
——oo-—---== l — 1st Speed
— Correct Position T TT-- 1 / \
1. Loosen screw 2. 1. Loosen screw (.
2. Tighten screw 5 2. Tighten screw @. Faster ® Slower
Parallel Alignment Note
T ! ‘. When a Type Z
' | l Pivot is used, Screwdriver
parallel alignment &> ()
! Correct | | Correct can be adjusted by
d_. 1| Positi ' __ | Positi
. — osition S 47_05| ion means of the top u}
1. Loosen screw @. 1. Loosen screw 3. pivot. =
2. Tighten screw 3. 2. Tighten screw @.
Top Pivot (Tég;amb Side) Top Plate 0.6t Without Hold-open ‘ With Hold-open
: L a1 141 _ A-1300(Z1I)
5HYO === {1 8n A-1400Z0)
1| N N Refer to page 50 for the Type Z Top Pivot.
25 122
34 135
Top Pivot (Door Side)
2 ©— & 4
I o = ]
@ & T
=30=—46——46—~
16 135
. 4-M6X16
Top Pivot Countersunk Screw
~#19 (P=1.0)
2014 116 19+ / Back Plate 4.5t Min.
T ; (not included) 1
% % © - 3271 88
=2 ] ] t Top Jamb) | C‘?
™% ™ 1
& i &  Door { N
1620 115\ N “amoxe ca|
#17 SUH Countersunk Screw(P=1.0) |
Jamb ' Back Plate 4.5t Min. (not included) oor
N 1 LI =
- 4-M6X 20 Internal Wrenching Bolt With Spring Washer(P=1.0) *’F*’ o
Lo 16?48 Back Plate 4.5t Min. (not included) ‘
& & & / 1 |
Rk HH IR 7 L in
o5 it & ( P 24| & -
( ] ) = — [=] Y
—— * ) T !
-—58.3— 281.7 160 2
‘ 340 Floor 178 <
L ‘ Cement Case ) Surface N | J ¢
‘ &
s ‘ PP ® ™
— 168
(20m+32.55«25 +«— 40—=+~— 40—~
7 R T o
Jamb*{* S é&; Tg}i}»%Door% 5
i 2 8-M5 X 8 Countersunk Screw
‘ Arm (P=0.8)(D=8) Stainless
@ | @le @/
63— 50—
R113 p242
R.355

30




Jamb

Top Pivot (Top Jamb Side)

Top Plate 0.8t

Without Hold-open ‘ With Hold-open

Jamb |

A-1500(Z1I)
f
2 | e A-1600
eﬁ AR Refer to page 50 for the Type Z Top Pivot.
@ @4 i
_| 27777, o<t
@ i
303 92
—40 135 4-M6X16
Countersunk Screw
Top Pivot (P=1.0)
~+#28-~
++20+20 ‘ 116 19~/ Back Plate 4.5t Min.
f w (not included) ‘ ¥
o <  Top ( Laad 2
T Py ! T ey ? Jamb 34 T @
T v | Yt it T
N \ ‘ Door I\
YT — 4 2 > Il &
2020420 115 5-MBX16 34
430~ Countersunk Screw
‘ . (P=1.0) . , Door
1| I I Back Plate 4.5t Min. 6-M6 X 20 Internal Wrenching Bolt With B Easin T
n— ‘ (not included) Spring Washer(P=1.0) T o
i Back Plate 4.5t Min. ‘
30 380350 (not included)
! m I+I m I‘H/ M
T , - : .%E 381 L;) *1 I e 1 _
& | -t 5 LG Bl 2w g |bhiq &) ©
e 0 S Frs 4 0§
L 2 =
722 346.2 Floor 210 =
418.4 Surface l
Cement Case
@ @
380 Door
103 30 103 30+
—o
— 751_5'9, —  Arm g
¢ =
10-M5 X 8 Countersunk Screw
278 (P=0.8)(D=8) Stainless
R421
& i

31



